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(bifurcation)

X(t+1) = f(x(®))
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(bifurcation diagram)
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X(t+ 1) = ax(t)(1 - x(t)) = Ta(X())

x(0)
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fa(x)
f2(%)

(fixed point)

X st fa(X) =X

(m )

f(x) = X
fi(x) # x(n=1,23,...,m-1)

fa(x) # {fa(x)}"

ax(1 - x)
fa(fa(x)) = af{ax(l — x)} (1 — {ax(1 — x)})
- a1 - X)? = {fa()F
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X = fa(X)
[fa(x¥)l <1

fa(X + €(t))
fa(X) + f2(X)e(t)
X + fZ(X)e(t)
fa(X)e(t)

X+ et + 1)

1«

coe(t+1)
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f(X) f:(x) X
f(X) 1f'(X)| <1 X V

xeV = lim f(X) = x

N—o0
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[fa()l <1
0<?1<1,76<0 st for'x in | e[X=6 X+6]

f/(X) < A< 1

for'pelicel
| fa(p) — fa(X)|
— = f/(c)< A<l
p—X (9 ]
& |fa(p) — fa(¥)| < Ap—-X < |p- X
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fa(p) € | fa(p)  fa(X)
[£2(p) — F2(X)| = fa(fa(p)) = fa(fa(¥))l < Alfa(p) — fa(X)

f2(p) - X| < 2%p-X

£2(p) - X| < A"p-X
O0<a<l1 A" — 0(n — )

s f2(p) = X(n — )
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X P (basin)

| € [0,1]

X = fa(0. 1£(9]> 1
fq — £

x =200, 1(f) (¥ <1
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

/
/ —p.13/35



X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

1
u:fa(u):au(l—u)<=>u:0,u:1_gl
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

1
u:fa(u):au(l—u)<=>u:0,u:1_gl
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

1
u:fa(u):au(l—u)<=>u:0,u:1_gl

u f2(u) = a— 2au = a(l — 2u)
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

?

1

u=fa(uy=au(l-u)— u=0,u=1-—

f2(u) = a— 2au = a(l — 2u)

a

/
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

1
u:fa(u):au(l—u)<=>u:0,u:1_gl

u f2(u) = a— 2au = a(l — 2u)
1. u=0 = f(0)=a
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

1
u:fgw:am1—m¢=:uzau:1_a
u f2(u) = a— 2au = a(l — 2u)
1. u=0 = f(0)=a
O0<a<l 0<f0)<1
l<a f2(0) > 1

2.u:1—l
a
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X(t+1) = Ta(x(1)) = ax(t)(1 - x(t))

u =2

1
u:fgw:am1—m¢=:uzau:1_a
u f2(u) = a— 2au = a(l — 2u)
1. u=0 = f(0)=a
O0<a<l 0<f0)<1
l<a f2(0) > 1

2.u:1—l
a
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1
. u=1--—
a

O<a<l u<0 O<uxl
a<l u>0
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1
. u=1--—
a

O<a<l u<0 O<uxl
a<l u>0

t%l—}):a—Z%l—}):Z—a
a a
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2.u:1—l
a

O<a<l u<0 O<uxl
a<l u>0

E%l—}):a—zﬁl—l)zz_a
a a

O<a<1l [f4(1-%)I>1 u=1-1
1<a<3 [f(1-3)I<1 u=1-1
3<a<4 |f(1-3)|>1 u=1-1
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f,(uy=a-2au=3-2-3-

a>3 fi(u) < -1
a>3 2

|

fa(®)  f2(X)

2
|
3
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~

fa(X) = ax(1 - X) f2(x) 2

)
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~
fa(X) = ax(1 - X) f2(x) 2
f2(x) = {ax(1-x)}
= a’x’(1 - x)?

/
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~
fa(X) = ax(1 - X) f2(x) 2
f2(x) = {ax(1-x)}
= a’x’(1 - x)?

/
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~

fa(X) = ax(1 - X) f2(x) 2

20 = {ax(1 - X))
= a’x’(1 - x)?
f2(x) fa(fa(X))

a{ax(l - x)} {1 —ax(1 - x)}
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fl,fz

f17f2

u=1-2~0.6429.-.
u=2/3
f2 45 4

/
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< u 2 fa2
() (W = fa(faw) - f4(u)
= fa(u) - f3(u)
= (W)
1 1<a<3 Ul <1 e (f2) (u<1
1 a=3 )l = -1 = (2) (u) =1
1 a>3 ) > -1 = (12) (u) > 1
<a=3 u f?
< 2 ? ?
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J1, O2 ?
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2 J1, 02 ?

f2(q) = g
— f2(g) =afaq(l-qg)}{l-aq(l-qg)} =g

c=>cmq—1+§yéh?—@?+@q+a+l}:0

a+1l+(a+1)(a-23)
2a

— U=

, (1=1,2)
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2 J1, 02 ?

f2(q) = g
— f2(g) =afaq(l-qg)}{l-aq(l-qg)} =g

c=>cmq—1+§yéh?—@?+@q+a+l}:0

a+1l+(a+1)(a-23)
2a

— Q= , (1=1,2)

2 fZ(a)
(12) (@), (2) (@) 1
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< 0,2 2
fa(dr) = 0o, fa(de) = 01

(f3) () = (fa(falan)))
= fa(fa(@u) - fal@)
= i) - fa(an) = (f2) ()

< f/(X) = a-2ax = a(l — 2X)

fa(01) = a(l — 2q1)
fa(a2) = a(1 - 20p)

- p.22/35



(2) (@) = (12) (@) = f4(a) - filan)
= a*(1-2q)(1 - 2qp)
= a’{l-2(q1 + 0) + 4010}

J1, O

a’g’ — (a°+a)g+a+1=0

a2+ a a+1
Wt®=—"3" hl=—7

/
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(2) (@) = (12) (@) = f4(a) - fi(an)
= a%(1-20q1)(1 - 2q)
= a’{1-2(01 + Q) + 4002}
= —a’+2a+4=-(a-1)%+5

U faz)/ (qu) = -1

a=1+ V6 =3.44948974278318 ...
( a=1-V6<0)

0 (f2) (=1 a=3( a=-1<0)

e
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< a=3.67 2 4

Q8-
0.8
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f - f2 25 f4 N
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f*

f - f2 25 f4

)

0.9
0.55 0.881
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e
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lim 20— Gn-1
N—oo dny1 — An

= 4.669201609103

?
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dn — dn-1

lim = 4.669201609103
N—oo dny1 — an
< ?
<]
!
Universality

1. unimodal (

)1

2. T”7(x) # 0 at peak

3. Schwarz

s(f) =& -3(¥) <o
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3 = f3

f3(X) = x = x(x—1+§)(x 6 )
— a’-2a-7=0a=1+ 8

£

“““““““““““““““““

£
£

“““““““““““““““““

/ / —p.31/35



a=1+ V8

a
a=1+ V8=23.8284....a=23.835

(tangent bifurcation)
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a=1+ V8

< a

a=382,a=1+ V8=3.8284...,a=3.835
<

— (tangent bifurcation)

0.9 m
0.8F
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a=1+ V8

< a

a=382,a=1+ V8=3.8284...,a=3.835
<
— (tangent bifurcation)
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v
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(tangent bifurcation)

3 =
3

(intermittency)
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< M. J. Feigenbaum : J. Stat. Phys, 19(1), 25-32, 1978;
21(6), 669-766, 1979
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< ( ): 2
< R. L. Devaney: 2
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